AXIOM STRUCTURES LIMITED

85 CAMDEN MEWS LONDON

OUTLINE STRUCTURAL CALCULATIONS RETAINING WALL – BOUNDARY LINE - 83/85 CAMDEN MEWS

References: British Standards Codes of Practice









Project	85 Camden Mews			Axiom Structure	S
Client	Private		Made by	Date	Page
Location	Basement wall design to BS81 (12006	P.3 5	AP	27-Apr-2015	6
	Basement wall design to BS8110:2005	The Concrete Centre	Checked	Revision	Job No
	Originated from 'RCC61 Basement Wall.xls' v4.0	© 2006 TCC	AP	-	15005

EXTERNAL STABILITY

STABILITY CHECK : OK

ANALYSIS - Assumptions & Notes

- 1) Wall idealised as a propped cantilever (i.e. pinned at top and fixed at base)
- 2) Wall is braced.
- 3) Maximum slenderness of wall is limited to 15, i.e [0.9*(He-Tb/2)/Tw < 15]
- 4) Maximum Ultimate axial load on wall is limited to 0.1fcu times the wall cross-sectional area
- 5) Design Span (Effective wall height) = He (Tb/2)
- 6) -ve moment is hogging (i.e. tension at external face of wall)
- +ve moment is sagging (i.e. tension at internal face of wall)
- 7) " Wall MT. " is maximum +ve moment on the wall.
- 8) Estimated lateral deflections are used for checking the $P\Delta$ effect.

UNFACTORED LOADS AND FORCES

	Force	Lever arm	Base MT.	Wall MT.	Reaction at	Reaction at	Estimated Elastic
Lateral Force	(kN)	to base (m)	(kNm)	(kNm)	Base (kN)	Top (kN)	Deflection Δ (mm)
PE =	18.63	0.73	-6.87	2.74	16.20	2.42	0.0
PS(GK) =	12.70	1.10	-5.15	2.75	9.55	3.15	0.0
PS(QK) =	6.35	1.10	-2.58	1.38	4.78	1.58	0.0
PL(GK) =	20.21	2.03	-7.17	9.29	8.10	12.10	0.1
PL(QK) =	5.77	2.03	-2.05	2.66	2.32	3.46	0.0
PW =	24.20	0.73	-8.93	3.55	21.05	3.15	0.0
Total	87.86		-32.76	22.36	62.00	25.86	0.1

GROUND BEARING FAILURE





Project	85 Camden Mews					Axiom Structures			
Client Location	Private Basement w	vall design to	BS81	mpa	5	Made by AP	Date 27-Apr-2	2015	Page 7
	Basement wall	design to BS8 ⁻	110:2005	The Co	ncrete Centr	Checked	Revision		Job No
	Originated from 'R	CC61 Basement	Wall.xls' v4.0	© 2006 T	CC	AP	-		15005
STRUCTI	JRAL DESI	GNS (ulti	mate)				DESIGN C	HECKS :	OK BS8110
WALL (pe	r metre length XIAL LOAD (n) CAPACITY(Limited to	0.1fcu)=	1200.00) kN	> 28	OK	reference 3.4.4.1
	Force	γ _f	Ultimate	Ult. Momen	t Ult. Shea	r Ult. Shear	1		
Lateral Force	e (kN)		Force (kN)	t base (kNn	at base (kl	N) at top (kN)			
PE =	18.63	1.20	22.35	-8.25	19.44	2.91			
PS(GK) =	12.70	1.40	17.78	-7.21	13.37	4.41			
PS(QK) =	= 6.35	1.60	10.16	-4.12	7.64	2.52			
PL(GK) =	= 20.21	1.40	28.29	-10.04	11.35	16.95			
PL(QK) =	5.77	1.60	9.24	-3.28	3.70	5.53			
PW =	= 24.20	1.20	29.04	-10.72	25.26	3.78	4		
Total	87.86		116.87	-43.62	80.77	36.10	<u>]</u>		
					Г	EXT	MOMENT (kNm)	INT	
Design Bend	ling Moments					-60 -40	-20 0 20	40	
On INTERN	AL face due t	to lateral for	ces, M _{int} =	27.46	kNm	^		0.00	
On EXTERN	AL face due t	o lateral for	ces, M _{ext} =	-43.62	kNm	top		0.56	
	Eccent	tricity of Axia	al Loads =	<u>125</u>	mm				
Dur	LATERAL	DEFLECTIO	ON "∆"=	0.1	mm	Ē		1.12	
Due	to eccentricity		ias, ivi _{ecc} =	3.5	KINM	VALI			
	L		$mect, m_p =$	0.00	KINITI	>		1.68	
I Ital Mmt on II	NTERNAL fac	o (M⊥0 5N	/ _M)_	20.2	kNm	ő	F, 1		
Total Mmt o		face (M	(0.5M) =	29.2 -15 1	kNm	pa		2.24	
		Tubb (Mext	e.emecc) -	-0					
					L			2.80	
			EXTERNAL	FACE	INTERNA	L FACE			
WALL REINF	ORCEMENT :	Min. As =	520		520		mm ²		Table 3.25
		φ =	<u>12</u>		<u>12</u>		mm		
		centres =	100	< 762	200	< 762	mm	OK	3.12.11.2.7(b)
		As =	1131	> 520	565	> 520	mm ²	OK	
MOMENT of F	RESISTANCE :	d =	344		344		mm		
		Z =	326		327		mm		3.4.4.4
		As' =	0		0		mm ²		3.4.4.4
		M _{res} =	160.1	> 45.37	80.3	> 29.21	kNm	OK	
			BASE of W	ALL	TOP of W	ALL			
SHEAR	RESISTANCE:	As =	1131	φ=	10	@100 mn	n 786 n	nm²/m	
		100As/bd =	0.33%		0.23%				
		VC =	0.48		0.43		N/mm ²		Table 3.8
		$V_{res} =$	165.6	> 80.77	146.6	> 36.10	kN	OK	3.5.5.2
ACK WIDTH to	b BS8100/8007	X =	95.59	mm	Em	= 0.00002		_	BS8007
Temp & shrinka	age effects not	Acr =	69.07	mm	W	= 0.00	< 0.30 mm	OK	App. B.2
noiddod									
REINFORC	EMENT SUM	IMARY for V	VALL						
		Туре	φ	centres	As	Min. As]		
			mm	mm	mm ²	mm ²	1		
INTER	RNAL FACE	Н	12	200	565	520		OK	
EXTER	RNAL FACE	Н	12	100	1131	520		OK	
TR.	ANSVERSE	Н	<u>12</u>	200	565	520	1	OK	

Project	85 Camden Mews					Axiom Structures			
Client	Private					Made by	Date		Page
Location	Basement w	all design t	to BS8	200 8 985		AP	27-Apr-2015		8
	Basement wall	design to BS8	8110:2005	The Con	crete Centre	Checked	Revision		Job No
	Originated from 'R	CC61 Basement	Wall.xls' v4.0	© 2006 TC	ж С	AP	<u> </u>		15005
OUTER BA	\SE(per metro γ _f =	e length) <u>1.50</u>	(ASSUM	ED)					BS8110 reference
	Ult. Shear = Ult. MT. =	31.82 0.00	kN kNm	(AT d from TENSION	FACE of - TOP FA	WALL) CE			
	BOTTOM RE	INFORCEM	ENT :	Min. As = ¢ =	520 12	mm ² mm			Table 3.25
				centres =	200	mm	< 762	OK	
				As =	565	mm ²	> 520	OK	
	MOMENT of I	RESISTANC)Е :	d = Z = As' -	344 327	mm mm mm ²			3.4.4.4
				Mres =	80.35	kNm	> 0.00	OK	
					-				
	SHEAR RESI	ISTANCE:		100As/bd =	0.16%	2			
				VC =	0.38	N/mm ⁻	< 21 Q2	OK	Table 3.8
				vies =	131.42	KIN	> 31.02	Un	3.5.5.∠
	CHECK CRA	CK WIDTH I	IN ACCOR	DANCE WITH	1 BS8100/8	3 Temp & shri	inkage effects	not included	k
	X =	70.88	mm	8m =	-0.00117		-		BS8007
	Acr =	108.61	mm	W =	-0.28	mm	< 0.30	OK	App. B.2
					NO CRAC	CKING			
	SF (per metre	lenath)							
	Ult. Shear =	-9.57	kN	(AT d from	FACE of	WALL)			
	Ult. MT. =	49.14	kNm	TENSION		∕I FACÉ			
			_			2			
	BOTTOM RE	INFORCEM	ENT :	Min. As =	520	mm [∠]			Table 3.25
				φ =	<u>12</u> 100	mm	- 769	OK	
				Centres =	<u>100</u> 1131	mm ²	< 702 > 520	OK	
				- vo	1101	111111	> 020	UIX	
	MOMENT of I	RESISTANC)Е:	d =	344	mm			
				Z =	326	mm			
				As' =	0	mm ²		.	
				Mres =	160.13	kNm	> 49.14	OK	3.4.4.4
	SHFAR RES	ISTANCE:		100As/bd =	0 33%				
				VC =	0.48	N/mm ²			Table 3.8
				Vres =	165.58	kN	> 9.57	OK	3.5.5.2
CHECK CRACK WIDTH IN ACCORDANCE WITH BS8100/8 Temp & shrinkage effects not included									
	X =	95.59	mm	= ۳ ۱۸۷	1.9E-05		- 0.20		BS8007
	Acr =	69.07	mm	vv =	0.00	mm	< 0.30	ÜK	Арр. В.2
REINFORC	CEMENT SUM	MARY for I	BASE			<u> </u>	т		
		Туре	φ	centres	As	Min. As			
	TOP	н	12	200		520	+	OK	
	BOTTOM	Т	12	100	565	520		OK	
TR	ANSVERSE	Т	12	200	565	520		OK	